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CHECK DCGJT

COW�RSION TABLE 

LETT�RS TO NUMBERS 
CH3ECK DIGIT COMPUTATlQN 

EQUALS 

SUM OF 

PRODUCTS DIVIDED WHOLE 
( FROM ABOVE) BY NUMBER + DEClMAL 

$134% i 3\ o? 
EXAMPLE 

BECA!BE THE DECiMAL IS -45, YOU SHOULD CHOOSE THE1CHECK DIGIT AS 5, AS SHOWN IN THE CHECK DIGIT TABLE­
1~ = 2  ~ = 1a 
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WORKSHEET: CHECK DIGIT CALCULATlON 

CHECK DGJTCOCllVfRSlON TABLE CHECK DIGIT COMPUTATlQN
LETT�RS TO NUMBERS 

EQUALS 
I SUM OF 

PfiODUCTS DIVIDED WHOLE 
' (FROM ABOVE) BY NUMBER -F 5EClMAL 

R11 i i-

c- '7
;\ P i  

EXAMPLE 

1 I I

I 247 I 17 I 22 1 . a 4 5  

BECAUSE THE DECIMAL IS.45,YOU SHOULD CHOOSE THE 
CHECK DlGlT AS 5, AS SHOWN IN THE CHECK DIGIT TABLE. 
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CONVERSION TABLE 
LfCTERS TO NUMBERS 

I 

I 

WORKSHEET: CHECK DlGlT CALCULATION 

CHECK DfG17 
CHECK DIGIT CORAPUTATWN 

THE 
iF THE CHECK 

DECIMAL j DIGIT 
IS IS 

SUM OF 
PRODUCTS OlVlDED WHOLE .OS 1 

( FROM ABOVE) BY NUMBER + DECiMAL 

11 I 3% 09 -27 3 

EXAMPLE 3 6  

247 11 22 . e 4 5  
-45 

J .54 

E -1a 2 

I 
.a 


BECAUSE THE DECIMAL IS.a,YOU SHOULD CHOOSE THE 
CHECK DIGIT AS 5, AS SHOWN IN THE CHECK DIGIT TABLE. .72 
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.90 x 

.OD 0 
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WORKSHEET: CHECK OlGlT CALCULATION 

CONVERSION TABLE 
LETTERS TO NUMBERS 

CHECK DfGU 
CHECK DIGIT COMPUTAMON 

THE 
'IFTHE CHECK 

DECIMAL . DIGIT8 = 2  1 P = 7  

c = 3  1 R = 9  

D = 4  s = 2  
E = 5  T = 3  

F = 6  u = 4  
6 = 7  v = 5  

u = 4  1 

' 

EQUALS 
SUM OF 

PRODUCTS DIVIDED WHOLE 
( FROM ABOVE) BY NUMBER -t DECIMAL -: 

11 1 3a 3 7  
I EXAMPLE 

247 	 I 11 22 . a 4 5  
I -

BECAUSE THE DECIMAL IS .45, 'YOU SHOULD CHOOSE THEICHECK DlGlT AS 5, AS SHOWN IN THE CHECK DIGIT TABLE. I 

IS IS 

-09 1 

.la 2 

27 3 

-36 4 
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WORKSHEET: CHECK DIGIT CALCULATION 


CHECK DfGlT 
CONVERSION TABLE CHECK DIGIT COMPUTATlON 

l E l T � R S  TO NUMBERS 

EQUALS 

SUM OF 


PRODUCTS DIVIDED WHOLE I

{ FROM ABOVE) \ BY NUM8ER + DECiMAL 

I 


EXAMPLE 1 


BECAUSE THE DECIMAL IS.a,‘YOU SHOULD CHOOSE THE 

CHECK DlGlT AS 5, AS SHOWN IN THE CHECK DIGIT TA8t-E. I 
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CONvERSlON TABLE CHECK DlGlT COMPUTATION 
L f l T E R S  TO NUMBERS 

THE 
'!FTHE CHECK 

DECIMAL ! DIGIT 
!S IS 


c = 3  R = 9  

D = 4  s = 2  
E = 5  T = 3  

F = 6  u = 4  

M = 4  1 
0_­
'-

EQUALS 
SUM OF 

PnODUCTS DIVIDED WHOLE 
IFROM AsOV�l BY NUMBER + DECIMAL 

I I 3% I b 3  
EXAMPLE 

247 t 11 22 
3 

. a 4 5  

BECAUSE THE DECIMAL IS -45, YOU SHOULD CHOOSE THE 
CHECK DlGlT AS 5, AS SHOWN IN THE CHECK DIGIT TABLE. 
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WORKSHEET: CHECK DIGIT CALCULATION 


CONVERSION TABLE CHECK DIGIT COMPUTATiON 
LE?T�RS TO NUMBERS 

EQUALS 
SUM OF 

PRODUCTS DIVIDED WHOLE 
' 

( FROM A B O E )  BY NUMBER + DECIMAL 

t i  

I EXAMPLE 

247 I 11 22 . a 4 5  
1 


CHECK DfG17 

THE 
'CFTHE CHECK 

DECIMAL j DIGIT 
IS 4s 

.09 t 

=la 2 

-27 3 

-36 4 

.54 I 6 

I 7 
BECAUSE THE DECIMAL IS.a,'YOU SHOULD CHOOSE THEICHECK DlGlT AS 5, AS SHOWN IN THE CHECK DlGlf TABLE- I 

.w X 

.OD I 0 
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WORKSHEET: CHECK DIGLT CALCULATION 
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CHECK DCGl7 
CONVERSION TABLE CHECK DIGIT COMPUTATION 

L E T E R S  TO NUMBERS 

ITHE 
'IFTHE CHECK 

DECIMAL ' DIGIT 
EQUALS iS IS 

SUM OF 
PROOUCTS DIVIDED WHOLE .09 1

4 FROM ABOVOE) BY 
I .ga 2 

3\ IQ3 -27 3 

EXAMPLE 

247 11 22 .4545 

IBECAUSE THE DECIMAL IS .45, 'YOU SHOULD CHOOSE THE 
CHECK DlGlT AS 5, AS SHOWN ItJ THE CHECK DlGlT TABLE-


